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6.2.3
22b (2 mwn) 2 23b (nyIn 85)

L.y mwn: unusually located Mo
a. Atop a wagon or boat: 7w3 and you may go up to it on 0"
i.  Authorship: y™
ii. Story: y™ built a N2 on a boat; 3™ was there and he was opposed:
1. y”r n2o=RI N7, as long as it could stand in a normal wind on land, valid, even if
it can’t stand on up to a normal sea wind
2. 277 n>o=pap N7 - must be able to stand up to a normal sea wind
b. Atop a tree or a camel: 73 but you may not go up to it on v"v
c.  Combination of: tree and man-made walls:
i. If: there are 3 man-made walls, even if a 4™ is a tree, you may go up on v
ii. If: any of the necessary walls are a tree, 7w3 but you may not go up on v
iii. Rule: if the tree were taken away you still have a valid n>10 that stands— you may go up on v
II.  Analyzing the N> atop the animal (camel)
a. Validity: follows n™ contra nT "7, who reads v. 1 as requiring a n21o that is usable for all 7 days
i. Since: you may not ascend it on 0" naw (Maw against riding animals on V") — not fit for 7
ii.  »”7% n”nn it is fit, but the rabbis made a n7m
b.  Related case: using an animal for a wall
i. »7r disallows — perhaps it will die (»aR) or run away (X1 "7);
1. Split the difference #1: an elephant that is untied
a.  »7an valid; if it dies, still have proper size for a wall
b. w7r /7 if it runs away, it’s gone
c.  Challenge: even if dying isn’t a problem, »axr should agree that running away is...
2. Split the difference #2: another animal tied
a.  Only concern: about dying
b.  ~7r 7 would allow it — death is not common (i.e. no need to be concerned lest...)
c.  Challenge: what about the space between its legs?
i. Answer: put reeds and sticks in between
d. Challenge: what if it jumps down?
i. Answer: tied up with ropes to keep it up
ii. Ifso: even »ar should allow it
iii. Defense: if it dies, it will shrink and perhaps be lower than n2o qwon
iv. (note: analysis continues...)
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